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You have three vampire books, four steampunk novels, and five post-apocalyptic teen :‘Eg
romances. How many ways are there of arranging them on a shelf if books of the same
type must be kept together?

How many 5 element subsets are there from a set with 8 elements?|

Find |[{X € P(A): A ={0,1,2,3,4,5,6}and |X| = 3}

After expanding (a + b)s, what is the coefficient of the term a’b”?

In a class consisting of 12 men and 15 women, how many different ways are there of
choosing a group consisting of 3 men and 6 women?

What formula do we use to determine the number of subsets of size k of a set of size n?
Write the formula, and describe what the different parts of the formula mean (where does
the formula come from?).
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